


Xty

(5 Fi
Find x. Gen
AEHDE

D




/6. AB || CD, Find x.

A

go 100°

(x+10)°=\(0
00

C 30°

N %




[#- XY || PQ, find x + y.




[3. In the figure aboye, AB is parallel to LM. What is the angle a equal to:
& oS IMHTT F AB, LM F FAT 8| FIT a fFas w#wT 872

aJm+b+c b)2mr—b+ ¢
A2 —b—c d)2m+b—c
A— b B
2T a
C
L - ————————et [\
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(9-AB || DE.Finda +b — c.

A

7

b=1380-a. +C

A4b- =180







%o. In the adjoining figure ZBAD=a, ZABC=b and 2BCD=c and 2ZADC=d, find
the value of ZABC in terms of a,c and d:

ar #\2BAD = a,2.ABC = b 3iR 2BCD = ¢ 3R 2ADC =
dg a,c3T dF FT H LABCH AT dd10|
c—(a+d) b)a—- (c+d) A
cJa—(c+d) d) None of these /\
C= o0k d
C_ C}—d: b S
) C Q
B D
s —




9[.If in the given figure, LACB + £BAC = 80°, «4BDE = 35° 4BCE =
45°, then the marked angle 2CE Dis:
gfe & 1 3mwfad & LACB + 2BAC = 80°, .BDE = 35°,2.BCE =
45° af Rf@Ad T LCED §:

a) 150° b) 120° //eﬂew d) 135°
"
160
B0 3
A B

| CHSL 13 Oct 2020 S1 | 9



The angles x°, a°, c® and (it — b)° are indicated in the figure given
below. Which one of the following is correct?

HIT x°, a°, ¢ 3 (m — b)° A & 7§ iy IR &. e &

¥ 7@ 2
a)x°=a°+c°—-b° b) x° = b°—a® —c°
%°=a°+b°+c° d) x° = a® — b° + c°

| CDS 201211 | 10



2%-How many degrees are there in an angle which equals one-fifth of its

(supplement?)
sﬁaﬂwmﬁmaﬂwﬂ:maﬁ%ﬁﬂ:w%aﬁmﬁ
faft &1 &2
a) 15° 30° c) 75° d) 150°
0\(?%.@ © + 50=150 Q+tb=180
(23 (Pple. T, =189,

6




24. An angle is 30° more than one half of its complement. Find the angle

in degrees:
39T Q& HIOT & AT 30° W TWIGT 8| G§ 0T FA13]
50° c) 45° d) 80°

a) 60°

D420 + X6 =90

30="6%-30




25. If two angles are complementary of each other, then each angle is:
a) A right angle A0 b) A supplementary angle
c) An obtuse angle ﬂn acute angle
IR Y PIT Th @ & A HIT ¢ al Tdh frmr & &
FqT 872
a) §H &IoT b) HYIE 10T
c) ¥ FOT  _dye T FYoT

O 0,90

Q\ Aoy Aok
g
5, 84.5°

| | 13



2. ZAOF = 2BOD, Find x.

£ hoc= Lmop [(Vedody B{w@tﬁ /5%—%!@;)

Z Fops= £ Aok [ J
Z ROF /FoC+/CoA=136°

L Andpn e Aoy A
gone Mgyl

=) L(AF=180-62
= ,lg

14



2% PQ || LM || RS. Find x.

@

/ PBR= £8RS=55 LZ_)

/ MLR+ L LRSs 120°

=> = l?o—')_g
= ISS

P

Some Mde

o ~ramsversal .

[A,\ZAA on the™

15



L HGE=L FEP [ConW\A‘("a /m] @

(@ +3 =129 [Ex*- aungle]

=) Xx=20

23- AB || CD, find x.

A C
4 4
E G
F.'.— go¥ﬁo X2
80Ck H




@AE | CD and BC || ED, then find y.

A
o/ ]
Pe- /' —Q







3@4B | CD, find 2CDO.

A 4 B 130-\1R

=62

152°9o

(80 -90=40

P S

C ’ D
Avxafa/ssw He Aowme Apds
o_g Mramt vertal

\Y

19



Triangle basic concepts
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Introduction (Clﬁ?l'q):

A A,B,C
o - 3 Vertices (it
LAEYT 97 3 Angles @)

p | B, AR, BC CA
D B ¢ LALBEET Angle sum property

L (9]
g
{ %+QHP>D): \%a°




Types of triangles (FYsl & UHR):
A £5\

a) Equilateral (ng)
«— b) Isosceles (%maﬁ*q’rg)
. A8 e c) Scalene (RAY#HeTE)
C 9
& On the basis of angles: frﬁ
Al (9« a) Acute angled (¥ &0T)

El B, 0,,-7&%"./ b) Right angled (H'J‘T\ 10T)

Bing, a,v/(p%ec) Obtuse angled (31f&rs =IoT)

s | =




Side-angle relation(3siT-$iur Hdy):

1. Angles opposite to equal sides are
‘K equal and vice versa is true.
H  ( 2. Angles opposite to larger sides are
larger and vice versa is true.

S S

| | 24




Sine rule and special RATs:

-3z

279 > W
=)le'-z c/ \b [&\lbac :SIHA.S:\n B.&inC
='%Y4 \ i - .

A
X _
5 N 1 YA %a
C —R |ABR  Snus

]



Sp,wfod RATs,

A
60 \Z

|
\%o
) J3 C

é-_—pD%C (A= %nb0"

=

—Z-
:\3.

26



Cosine rule:

C/ \b b= CLZ+CL—020L(, (%0

/Ao
& Cc

«—a—




[, In AABC,BD 1 AC,Eis a point
on BC such that ZBFA =
x°.I1f LEAC = 38° and £EBD =
40°, then the value of x is :
AABCH, BD 1 AC, E, BC W
wF fag & 9@ sBEA=x°
81 3T ,EAC=38 3R
2EBD =40°, @ x & AW
AT

A 88  b) 6s°

c) 78° d) 72°

| SSC CHSL 3 Jul 2019 51 | 28



2- InAABC,AB = AC and 2B = 30°. Find ZA. .
ABC & AB = AC3R «B=30° & aY 2A 9aT &Y
120  b)60 c)150  d)30
A

120

2D 30

29



3« In an isosceles triangle, if the
unequal angle is twice the
sum of equal angles, then
each equal angle is

Yo fFdr wagfaeg B #

S © aRE F WX § a Td&
AT FI0T fFaar grem?
_ a) 120 b) 60
$0=182" 20 30 d) 45

|SSC CGLT1, 19 May 2013 S1 | 30



4o In the given figure, PQ = PS = SR
and 2QPS = 40°, then what is the
value of QPR (indegrees)?
ar ¢ Impfa 7 PQ= PS = SR AT
£QPS = 40°®, d QPR HT HT
41 872

a) 45 b) 60

475  d)50

| SSC CGL T2, 19 Feb 2018 | 31



&+ ABC is an isosceles triangle

with AB = AC. The side BA
is produced to D such that
AB = AD. If £LABC = 30°,
then £BCD =?
ABC T& HHgfAaTg 87
¥ fo e AB = AC®| S-IGIT
BA #I g D a% 39 YR
e Iar § % AB =
AD @] 3P 2ABC = 30°%
ar 2BCD =?

a),30 b) 60
90 d) 120




'60
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